
 $\Lambda_c^+ \bar{D}^0 K^-$ $\Lambda_c^+ D_s^-$ Both

$$\phi \rightarrow \{K^+ \leftarrow p\} K_{\text{com}}^-$$

$$D^- \rightarrow \{\pi^- \leftarrow K_{D_s^-}^-\} K^+ \pi^-$$

$$\phi \rightarrow \{K^+ \leftarrow p\} K_{\Lambda_c^+}^-$$

$$D^{*+} \rightarrow \left[\{ \pi^+ \leftarrow p \} K_{\text{com}}^- \right]_{D^0} \pi^+$$

$$\bar{\Lambda}_c^- \rightarrow \{ \bar{p} \leftarrow K_{D_s^-}^- \} K^+ \pi^-$$

$$D_{(s)}^+ \rightarrow \{K^+ \leftarrow p\} K_{\Lambda_c^+}^- \pi^+$$

$$D^{*+} \rightarrow \left[\{K^+ \leftarrow p\} K_{\text{com}}^- \right]_{D^0} \pi^+$$

$$\Lambda_c^+ \rightarrow \{ \pi^+ \leftarrow p \} K_{\Lambda_c^+}^- \{ p \leftarrow \pi^+ \}$$

$$D^+ \rightarrow \{ \pi^+ \leftarrow p \} K_{\Lambda_c^+}^- \pi^+$$

$$D^{*-} \rightarrow \{ \pi^- \leftarrow K_{\text{com}}^- \} \bar{D}^0$$

$$D^{*+} \rightarrow \left[\{ \pi^+ \leftarrow p \} K_{\Lambda_c^+}^- \right]_{D^0} \pi^+$$

$$D^{*-} \rightarrow \{ \pi^- \leftarrow K_{\Lambda_c^+}^- \} \bar{D}^0$$

$$D^{*+} \rightarrow \left[\{K^+ \leftarrow p\} K_{\Lambda_c^+}^- \right]_{D^0} \pi^+$$
